
GCSE Geology Component 1 - C480UA0-1
All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1(a)(i) 573 1.4 0.9 2 69.5 100

1(a)(ii) 573 0.7 0.4 1 73.1 100

1(b)(i) 573 2.3 1 3 75.1 100

1(b)(ii) 573 0.5 0.5 1 48 100

1(c) 573 1.3 0.6 2 64.9 100

2(a)(i) 573 0.9 0.4 1 85.2 100

2(a)(ii) 573 1.1 0.7 2 56.5 100

2(b)(i) 573 0.7 0.4 1 72.8 100

2(b)(ii) 573 0.2 0.4 1 22.5 100

2(b)(iii) 573 0.6 0.5 1 56.7 100

2(c)(i) 573 0.6 0.5 1 60.7 100

2(c)(ii) 573 0.7 0.5 1 70.2 100

3(a) 573 1 0.6 2 48.3 100

3(b)(i) 573 0.7 0.5 1 66.3 100

3(b)(ii) 573 1.5 0.9 2 72.6 100

3(b)(iii) 573 1.6 1.2 3 53.1 100

4(a)(i) 573 0.7 0.5 1 68.4 100

4(a)(ii) 573 0.7 0.5 1 70.7 100

4(b) 573 2.3 0.8 3 76.8 100

4(c) 573 3.1 2 6 51.9 100

5(a)(i) 573 0.8 0.4 1 81.2 100

5(a)(ii) 573 0.3 0.5 1 31.4 100

5(a)(iii) 573 1.6 0.6 2 80.1 100

5(a)(iv) 573 0.9 0.9 2 47.4 100

5(a)(v) 573 1.2 0.7 2 62.1 100

5(b) 573 2.9 1.9 6 48.3 100

6(a)(i) 573 1.2 0.8 2 60.5 100

6(a)(ii) 573 1.4 0.7 2 69.7 100

6(a)(iii) 573 2.9 0.5 3 95.6 100

6(b) 573 1.3 1.3 4 33.7 100

7ai ii iii 573 2 1.1 4 50 100

7(b)(i) 573 1.2 0.8 2 60.7 100

7(b)ii iii 573 1.2 1 3 40.6 100

7(b)(iv) 573 1.2 0.8 2 58.2 100

7(b)(v) 573 0.8 0.9 2 42.2 100

7(c) 573 1.3 0.7 2 63.4 100

7(d) 573 1.2 1.3 4 31 100
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Sticky Note

Candidate 2. Mark 2/4

The candidate has made two creditworthy points in that craters from meteorite impacts can lead to mass extinctions and that the cause of the extinction may be related to dust blocking out the sun leading to a drop in primary productivity (photosynthesis) which in turn leads to herbivores and carnivores to become extinct. Reference to the   K-Pg event and the extinction of the dinosaurs would have gained full marks
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Sticky Note

Candidate 3. Marks 4/4

An excellent answer that clearly answers the question in some detail. The candidate uses the K-Pg event to explain how large craters can influence the evolution of life on Earth. The candidate locates the event in the Gulf of Mexico, explains how forest fires, tsunamis and global dimming led to a mass extinction including the dinosaurs. In addition, the candidate explains how the extinction of the dinosaurs led to the rapid evolution of birds and mammals. The reference to bony fish is incorrect, but positive marking of answers means that such an error does not detract from the correct statements made throughout the answer.
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© WJEC CBAC Ltd. 7 


Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


4 (a) (i) There is a negative correlation between viscosity and 
distance travelled in Figure 4b (1) 
 


 1  1 1  


  (ii) Jelly unlikely to be liquid below 20°C/jelly would not flow 
or equivalent (1) 
 


 1  1   


 (b)  35 km (1) accept 30 – 40 km  
8° (1) accept 3°-15° 
andesitic/andesite (1) 
 


1 2  3 2 2 


 (c)  Indicative content 
 
basalt is mafic, low viscosity and high temperature 
1200ºC 
gases exsolve from magma as it rises to the surface 
gases can escape from the lava as it is erupted 
eruptions are passive/gentle and mainly lava flows 
andesite/rhyolite higher silica and higher viscosity but 
lower temperature 800º-1000ºC 
gases exsolve from magma as it rises to the surface 
gases trapped as magma is so viscous, magma 
expands in volume 
eruptions are violent/explosive and produce ash and 
pyroclastic flows 
 


  6 6   







 


© WJEC CBAC Ltd. 8 


Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


   5-6 marks 
The answer refers to both passive and violent activity and 
explains how both composition and viscosity determines 
the type of volcanic activity. Reference is made to gas 
within the magma or lava. Reference may be made to lava 
flows/ash fall/pyroclastic flows. 
There is a sustained line of reasoning which is coherent, 
substantiated and logically structured. The information 
included in the response is relevant. 
 
3-4 marks 
The answer refers to both passive and violent activity and 
explains how it is related to either composition or viscosity 
in each case. 
There is a line of reasoning which is partially coherent, 
supported by some evidence and with some structure. 
Mainly relevant information is included but there may be 
some irrelevant information or minor errors. 
 
1-2 marks 
The answer refers to either passive or violent activity and 
explains how it is related to either composition or viscosity. 
There is a basic line of reasoning which is not coherent, 
supported by limited evidence and with very little structure. 
There may be significant errors or the inclusion of much 
irrelevant information. 
 
0 marks 
No attempt made or no response worthy of credit. 
 


      


   Question 4 total 1 4 6 11 3 2 












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


  







 



roberm

Sticky Note

Candidate 1. Mark 2/6.

A simplistic answer linking high SiO2 content in lava to violent eruptions and low SiO2 content to passive eruptions. The candidate has confused viscosity and distance travelled, getting them the wrong way round even when the relationship is clear on Figure 4b. There is no explanation evident of why high viscosity leads to violent eruptions, no reference to build up of gas pressure for example. Regarding composition, the candidate only refers to high or low SiO2 content and fails to use the terms silicic/andesitic and basaltic/mafic.
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Sticky Note

Candidate 2. Mark 3/6.

A mid-range answer where the candidate has clearly used the information from Figure 4b and 4c appropriately. They have identified that high viscosity leads to violent eruptions but has not explained why. There is no reference to gas pressure or silica content, but the answer has linked viscosity to the shape of the volcanoes from Figure 4c. There is not enough detail on composition, the candidate simply copying the information from the boxes below Figure 4c but unfortunately missing out the key word ‘basaltic’.
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Sticky Note

Candidate 3. Mark 6/6.

A very clear and concise answer that is worthy of full marks. The candidate has clearly used the information from Figures 4a, 4b and 4c. Composition high silica/andesite and low silica/basalt are linked to violent and passive eruptions respectively. The answer links the viscosity of the lava to the type of volcanic activity and clearly explains the role of gas pressure, or lack of it, in both instances.
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© WJEC CBAC Ltd. 9 


Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


5 (a) (i) 30°North (1) 
 


1   1 1  


  (ii) Palaeozoic (1) 
 


1   1 1  


  (iii) The rate of drift was the most rapid between 450 Ma and 
430 Ma (1)  
Britain has crossed a total of 105º latitude during the last 
550 Ma (1) 
 


 2  2 2  


  (iv) 70°of latitude (1) 
14°per 50 million years (1) 
 


 2  2 2  


  (v) Lord Kelvin (1) 
John Joly (1) 
 


2   2   


 (b)  Indicative content 
 
5b coal with tropical fern suggests tropical environment 
close to the equator. Hot, humid conditions/coal forming 
swamps 
 
5c breccia with haematite cement and desiccation cracks, 
found in desert environments-poorly sorted formed by flash 
floods followed by drying up. Latitude similar to Sahara 
Desert today 
 
5d tillite/boulder clay deposited by ice, angular, poorly 
sorted suggesting higher/colder latitudes of today 
Sequence suggests gradual movement North from the 
equator through different climatic belts with characteristic 
rock types being formed at certain times. 


  6 6   
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Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


   5-6 marks 
The answer refers to Figures 5b, 5c and 5d and links 
the rock types/structures to the climate/environment/ 
latitude.  
There is a sustained line of reasoning which is coherent, 
substantiated and logically structured. The information 
included in the response is relevant. 
 
3-4 marks 
The answer refers to a minimum of two figures from 
Figures 5b, 5c and 5d and links the rock types/ 
structures to the climate/environment/latitude.  
There is a line of reasoning which is partially coherent, 
supported by some evidence and with some structure. 
Mainly relevant information is included but there may be 
some irrelevant information or minor errors. 
 
1-2 marks 
The answer refers to a minimum of one figure from 
Figures 5b, 5c and 5d and links the rock types/ 
structures to the climate/environment/latitude.  
There is a basic line of reasoning which is not coherent, 
supported by limited evidence and with very little 
structure. There may be significant errors or the 
inclusion of much irrelevant information. 
 
0 marks 
No attempt made or no response worthy of credit. 
 


      


   Question 5 total 4 4 6 14 6 0 












 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 


 







 


 



roberm

Sticky Note

Candidate 1. Mark 1/6

A very basic answer which has failed to make use of the information in Figures 5b, 5c and 5d. There is no reference to the progressive northward drift of the UK and there is minimal reference to any evidence from the rock types to link to latitudinal climatic belts. The only creditworthy point is the idea that Carboniferous coal formed in an equatorial climate close to the equator. No reference to the breccia or till linking their characteristics to desert and glacial environments.
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Sticky Note

Candidate 2. Mark 3/6

A lower middle-band answer that reflects the candidate’s ability to use evidence from Figures 5b, 5c and 5d to some effect. Referencing the coal containing a tropical fern fossil which formed in swampy or marshy conditions and linking it to an equatorial latitude was worth 2 marks. The remainder of the answer repeats the information in the boxes below Figures 5c and 5d but does not explain why it suggests desert and glacial environments respectively, and consequently only gained one more mark. Reference to haematite cement indicating oxidising conditions and a terrestrial environment or that desiccation cracks implied shallow bodies of water that completely dried up would have gained additional marks. The angular grains and poor sorting of the till suggests glacial plucking and abrasion and deposition from ice, neither of which were mentioned by the candidate. There is no reference to the progressive northward drift of Britain and the candidate incorrectly concluded that Britain could be north or south of the equator during the Quaternary.
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Sticky Note

Candidate 3. Mark 6/6

A clear and concise answer that makes full use of Figures 5b, 5c and 5d whereby the candidate uses the evidence from the rock types to deduce the climatic conditions under which they were deposited. The coal with tropical fern is linked to an anaerobic swamp with high temperatures and an equatorial location. The breccia is interpreted as being deposited by a flash flood and haematite as a cement indicating desert conditions. Reference is also made to high temperatures and low precipitation rates explaining the desiccation cracks. The candidate also links the angular grains of the till to the process of glacial plucking and consequently indicates a glacial environment. The candidate also clearly implies there is a progressive northward drift of Britain from 0 degrees to 55 degrees north from the Carboniferous to the Quaternary.
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© WJEC CBAC Ltd. 11 


Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


6 (a) (i) Radius 1250km (accept 1200-1300 km) (1) 
Correct calculation of stated radius x 6.284 (1) 
 


 2  2 2  


  (ii) The meteorite collided with the Moon at a very shallow 
angle (1) 
The meteorite was travelling at a low velocity (1) 
 


 2  2   


  (iii) Crater Y 
Apollo crater 
Crater X 
South Pole-AB 
Moon’s crust 
 
Moon’s crust is the oldest (1) 
South Pole-AB is younger than Moon’s crust but older than 
the rest (1) 
3 remaining craters in correct order (1) 
 


 3  3  3 


 (b)  Any four x (1) from: 


• mass extinction mentioned 


• K/Pg event/Chixulub crater Mexico  


• any named group extinct e.g. dinosaurs/ammonites  


• any one named piece of evidence for it happening 
iridium/shocked quartz/tektites soot/crater  


• any one named cause of extinction fires/global 
warming/cooling/tsunami/acid rain 


• credit reference to bacteria/chemicals brought in on 
meteorites 


 


4   4   


   Question 6 total 4 7 0 11 2 3 


  












 



roberm

Sticky Note

Candidate 1. Mark1/4

A very brief answer considering the question is worth 4 marks and requires some extended writing. The only creditworthy point is the idea that meteorites may have carried bacteria to Earth and this resulted in the origin of life on Earth. There is no reference to the evolution of life being punctuated by mass extinctions due events such as the K-Pg impact event.












